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(a) Round 341.537

(i) to 2 decimal places,

(i1) to 1 significant figure.
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6 (a) Round 341.5%7

(i) to 2 decimal places,

(i1) to 1 significant figure.

841587
)
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10 (a) Put brackets into these calculations so that the answer is correct.

i) 70-25+9%x3 =15 [1]

(i) 6x8—-5+14 =32 [1]

(b) Calculate.
46.3+89.4

15— 3.1

Give your answer correct to 3 significant figures.
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10 (a) Put brackets into these calculations so that the answer is correct.

0 (70-28+9x3=15 ./ (1
5 2N KR =S &
) 6x(8—5+14 =32 (1

bx S+ =737
(b) Calculate.
46.3+89.4

15-3.1°

Give your answer correct to 3 significant figures.

2517625
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9 (a) Round 7.3065 to 2 decimal places.

(b) Round each number to 3 significant figures.

(i) 408231

(i) 0.00613702
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9 (a) Round 7.?#65 to 2 decimal places.

N

0 RN o-U\

(b) Round each number to 3 significant figures.

(i) 408231

\J (b)(i) QOgOOO .................... [1]

(i) 0.00613702
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(a) Round 7874 to

(i) the nearest hundred,

(a)(i)

(ii) 1 significant figure.

(ii)
(b) Find the value of x.

3°x 32 = 3%

(b)

-----
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(a) Round 7874 to

(i) the nearest hundred,

(ii) 1 significant figure. b

/% 70

(b) Find the value of x.

3%x 3% =3

(a)(i)

(ii)

(b)
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(b) +/12.25°

N 50 Give your answer correct to 1 decimal place.

N2b
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(b) V1225

NSO Give your answer correct to 1 decimal place.

| L&Q%}76

|
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(a) Round 81.469 to 1 decimal place.
N26

(b) Round 0.005 694 to 3 significant figures.
N27
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(a) Round 81.469 to 1 decimal place.

N26
(a)
(b) Round 0.005 694 to 3 significant figures.
N27
(b)
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23 S=xp*—a)

a=8,b=10

Calculate the value of S.
Give your answer correct to 3 significant figures.

(Total for Question ‘5 is 2 marks)




S =x4b*— a*)
a=856=10

Calculate the value of S.
Give your answer correct to 3 significant figures.

S - fﬂ”z(loof 60
L

=T 3g> - Sy 30
S =

\
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(Total for Question ‘5 is 2 marks)
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4.36 + 28

15 (a) Work out —
6.8 —5.42

Give your answer as a decimal.
Write down all the digits on your calculator display.

(b) Give your answer to part (a) correct to 1 decimal place.

(Total for Question 15 is 3 marks)
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4.36 + 28

15 (a) Work out —
6.8 —5.42

Give your answer as a decimal.
Write down all the digits on your calculator display.

(b) Give your answer to part (a) correct to 1 decimal place.

(Total for Question 15 is 3 marks)




19 (a) Use your calculator to work out the value of

N50 \/5 T T
9.67 + 84.9

Write down all the digits on your calculator display.

(b) Write your answer to part (a) correct to 2 significant figures.

N27
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19 (a) Use your calculator to work out the value of

N50 \/5 1.9-—-3738
9.67 + 84.9

Write down all the digits on your calculator display.

ORR22767 Sgi/

(b) Write your answer to part (a) correct to 2 significant figures.

N27
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2 Write 7.264 51 correct to 3 decimal places.

(Total for Question 2 is 1 mark)
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2 Write 7.264[51 correct to 3 decimal places.

3 725

2 ) leawe previovs numbesr (Total for Question 2 is 1 mark)
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18 Balena has a garden in the shape of a circle of radius 10 m. Video created by W Neill
He is going to cover the garden with grass seed to make a lawn.

Grass seed 1s sold in boxes.
Each box of grass seed will cover 46 m? of garden.

Balena wants to cover all the garden with grass seed.

(a) Work out an estimate for the number of boxes of grass seed Balena needs.
You must show your working.

(b) Is your estimate for part (a) an underestimate or an overestimate?
Give a reason for your answer.



18 Balena has a garden in the shape of a circle of radius 10 m. Video created by W Neill
He is going to cover the garden with grass seed to make a lawn.

Grass seed 1s sold in boxes.
Each box of grass seed will cover 46 m? of garden.

Balena wants to cover all the garden with grass seed.

Pl

-~ g2
(a) Work out an estimate for the number of boxes of grass seed Balena needs. b OM
You must show your working.

Aces o&. circle -;ﬁ’xrl ) 200w? - *:fCDIN;Z - (—3 hoxes
2142 8L §
o~ L
R X0 . 5 boxes

X000 :KOOM )

(b) Is your estimate for part (a) an underestimate or an overestimate?
Give a reason for your answer.

 own wll ‘oehc\qerﬂffO'MOfebox@SU”deffS&mﬁ&f
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2 Write 56.78 correct to one significant figure.

(Total for Question 2 is 1 mark)
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4

2 Write 56.78 correct to one significant figure.

SO

v~

(Total for Question 2 is 1 mark)
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23 A number, n. is rounded to 2 decimal places.
The result is 4.76

Using inequalities, write down the error interval for n.

(Total for Question 23 is 2 marks)
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2 Write 1.59 correct to 1 decimal place.

NZb

(Total for Question 2 is 1 mark)
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23 A number, n. is rounded to 2 decimal places.
The result is 4.76

Using inequalities, write down the error interval for n.

P [ 765

I »
s (755 L7sS < 0 < (ns

(Total for Question is 2 marks)
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2 Write 1.59 correct to 1 decimal place. /
b 4

(Total for Question 2 is 1 mark)
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20 (a) Write 7357 correct to 3 significant figures.

N27



Video Created by W Neill

20 (a) Write 7357 correct to 3 significant figures.

13557 7360
73b0 ”

N27



AQA



5 (a)
NSO

5 (b)
N1b

Use your calculator to work out V701 as a decimal.

Write down your full calculator display.

Answer

Video created by W Neill

[1 mark]

Give your answer to part (a) to 1 decimal place.

Answer

[1 mark]




5 (a)
NSO

5 (b)
N1b

Use your calculator to work out V701 as a decimal.

Write down your full calculator display.

Answer Q(? Li7é> U(OQSC[
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[1 mark]

A
2b-\[16

Give your answer to part (a) to 1 decimal place.

Answer 2 6 - g

[1 mark]
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11 (b) Convert 210 millilitres to fluid ounces.

Use 1 fluid ounce = 28.4 millilitres

R26
N26

Give your answer to 1 decimal place.
[2 marks]

Answer fluid ounces
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11 (b) Convert 210 millilitres to fluid ounces.
Use 1 fluid ounce = 28.4 millilitres

R26 _ _
Give your answer to 1 decimal place.

N26 [2 marks]

7. 26 /IOU(\CZ = 28 Lml )X 2241,2
TN 7 725,2 210ml ©

[ b T,

Answer /7 i Lk fluid ounces

b




